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Question 1

‘The General Theory of Employment, Interest and Money’ was written by
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Question 2

If AY is change in income, Al = change in
investment and k = value of the investment
multiplier, the relationship can be written
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Question 3

If C=0.75Y and I= Rs. 400, then equilibrium national income would be
M C= 0.75Y 43¢ I= Rs. 400 DI T, TYN SIIATT Grorg WY 2(J

Question 4

The definition for marginal propensity to consume is
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Question 5

If Y= C+l and C=a+bY , then equilibrium
level of income( Ye) would be
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Question 6

GDP includes
GDP I S oS B AN N TBGS AP

Question 7

Given the consumption function C = 20 + 0.54Y, what is the corresponding savings function?
(T CATHP C = 20 + 0.54Y (T, A9 JAAYS ABT WCHP PO ?

Question 8



According to Keynes, consumption is a function of
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Question 9

Total consumption divided by total income gives us
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Question 10

‘Supply creates its own demand’ is known as
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Question 11

The crucial difference between the classical and Keynesian money models is
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Question 12

Absolute income hypothesis was introduced by

Question 13

The concept of Ratchet effect is introduced in the theory of consumption by
(S17e1g AAEE TG AN NGOl AR LN ATGF (e

Question 14

If the MPC=4/5, the multiplier is
M ATSH (O197 AITOT (MPC) = 4/5 T, O BVF (I

Question 15

Permanent income hypothesis was introduced by
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Question 16

According to Fisher’s Time Preference Theory, the consumers
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Question 17

In macroeconomics, investment is defined as
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Question 18

Which one is correct, according to crude quantity theory of money?
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Question 19

Transaction demand for money
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Question 20

The speculative demand for money depends on
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Question 21

Liquidity trap is a situation
N NG B 2 JUN I I

Question 22

IS-LM curves analysis simultaneously determines
IS-LM (JUTRTIR G JF2 ST LT FF

Question 23

If money supply increases

Question 24

Given the saving function S =0.2 Y and the investment function, 1=102-0.2i, then the equation of the IS function will be

(TUMN S = 0.2 Y ¢ RTINS HCNFF | = 102 — 0.21, UM IS (FLUH ANFIY

Question 25

Fiscal policy is
AGIY WS (Fiscal policy) 2¢1

Question 26

Who said, ‘inflation is always and everywhere a monetary phenomenon’ ?
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Question 27

Consider the following Statements :

1. Inflation is advantageous to borrowers

2. Inflation is advantageous to bond-holders.
Which of the statements given above is/are correct?
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Question 28

The concept of inflationary gap has been elaborated by
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Question 29

According to Friedman, the shape of the Long- run Phillips curve is
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Question 30

Knife-edge instability problem was solved by
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Question 31

If the consumption function is C= a + bY, then ‘b’ is
(OIN H{(HAHFFH C=a + bY A, ‘b’ O

Question 32

By ‘paradox of thrift’ Keynes meant that an increase in desire to save would lead to
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Question 33

If C= 150+ 0.75Y and I= 500, then equilibrium National Income would be
M C= 150+ 0.75Y 432 I= 500 Y O] GIIATN Gro ™Y =

Question 34

The intersection of IS and LM curve when combined in the same figure determines the equilibrium level of
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Question 35

Under the Keynesian absolute income hypothesis, consumption expenditure is a stable function of
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Question 36

In the Keynesian system, liquidity preference refers to
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Question 37

Given the consumption function C = 40 + 0.8Y, what is the corresponding savings function?
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Question 38



In the liquidity trap, the money demand curve
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Question 39

The Knife —edge problem in the short-run Harrod-Domar model arises when
FFFAN VFO-(GINE NG SHALICI ST 0w R (M4l T I

Question 40

According to the Harrod —-Domar model, an increase in growth depends on

RNRG-(GINR WA, 2@ I 67 I

Question 41

Who said, ‘Supply creates its own demand’ ?
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Question 42

Which of the following ensures full employment in the classical model?
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Question 43

In the simple Keynesian framework, the price level

Question 44

In the open economy
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Question 45

The concept of involuntary unemployment, according to Keynes, is due to
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Question 46

The concept of Permanent Income Hypothesis is associated with
FIR S AFFFD A I VN Go© fSfN ZCeaw

Question 47

For an MPC of 0.75, the value of the multiplier is
MPC 49 0.75 WI(~NG G T, BCPJ YelJ Re]

Question 48

The ratchet effect is found in
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Question 49

The acceleration principle says that as income increases capital accumulation happens. What is about investment? It
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Question 50

Suppose GDP=10,000; Gross investment=2,000 Net investment= 15,00, then Net Domestic Product at market price is
YA GDP = 10,000; ST RNTII9T = 2,000 ; ACHCA IGUE AN N6 HOTST B AT (NDP ) =

Question 51

What does the term Gross Investment mean?
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Question 52

There are three methods to measure GDP

GDP AN fOfG g g

Question 53

Liquidity trap is a situation
OGN TIN' (12 I

Question 54

The Solow growth model predicts that

CTITAT ST AFIFIICNR SR =

Question 55

If money supply decreases

Question 56

The Phillips curve shows
P31 (@4 (A (T

Question 57

According to Friedman, the shape of the Long- run Phillips curve is
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Question 58

Demonetization is a part of monetary policy of a country, which means
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Question 59



Steady state equilibrium is attained in the long-run Harrod- Domar model when
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Question 60

In the Harrod-Domar equation g=s/v, v is defined as
TRAO-(OINIR TRBFAC g = shv, v I ST =



